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ST AT B
HE: MeiCtX EH Y 29
CHol: RILAAET JIBFAIZ ALY XIS (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
NG 47,791,020 29,946,970 17,844,050
3 46,748,000
= 200,000
= 843,020
ARET EH Y 29 47,745,050 29,901,000 17,844,050
3 46,748,000
= 200,000
= 797,050
KA St X JIBHAIE ALRS XIS 43,952,050 22,165,000 21,787,050
3 43,604,000
= 200,000
= 148,050
N AQIEl BE42A4 XY 43,604,000 21,939,000 21,665,000
= 43,604,000
403 RHXISHSR20IH 43,604,000 21,939,000 21,665,000
3 43,604,000
01 UXSHMAZDE 43,604,000 21,939,000 21,665,000
OXNYAACT ZBSAIL 43,604,000
3 43,604,000
N areichXl 280 FAHl Xg 300,000 195,000 105,000
= 200,000
= 100,000
403 XHXISHH SR =0 300,000 195,000 105,000
= 200,000
= 100,000
01 MXSHAZDE 300,000 195,000 105,000
ORI ARIEHX 2 5HHE At
400,000,000 *75% 300,000
= 200,000
= 100,000
AT ES X 48,050 31,000 17,050
201 L2yl 40,000 24,000 16,000
01 Attt 40,000 24,000 16,000
QUSRS 2 40,000
202 OiH| 4,000 4,000 0
01 =2UoiHl 4,000 4,000 0
OUYYNY L =T 4,000
203 YREZY| 2,850 3,000 A150
03 AlZ =T =Y 2,850 3,000 A150
OIS 2,850
405 THAHEH S 1,200 0 1,200
01 RMUSEH S| 1,200 0 1,200
ozE= 1,200




SA AR Dt
HE: ANUCE T4 U 29
o9l STEX XN L 29 (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
STUX F4 L 29 3,793,000 7,736,000 3,943,000
2 3,144,000
= 649,000
STEHNESAY 3,349,000 7,292,000 3,943,000
z 3,144,000
= 205,000
403 RHXISHHSR20|H 3,349,000 7,292,000 3,943,000
z 3,144,000
= 205,000
01 RXISHTZLDE 3,349,000 7,292,000 3,943,000
OS2 =4 1,904,000
z 1,699,000
= 205,000
OSZEX CSIIBAIE KA A
2,890,000, 00021 *50% 1,445,000
2 1,445,000
SToXEs 2 X 14,000 14,000 0
307 BI2HOI 14,000 14,000 0
02 SIANBE 14,000 14,000 0
OsZHNEs 298 X 14,000
STUX =BIISAIL HE AL 430,000 430,000 0
403 RHXISHH SR =0 430,000 430,000 0
01 RXISAX=EE 430,000 430,000 0
OSZEX L3IIBAE Ha 430,000
HH 2 YA (MY D) 45,970 45,970 0
Jl= 2| 45,970 45,970 0
o= 2l 45,970 45,970 0
201 LByl 22,400 22,400 0
01 ARl 20,900 20,900 0
OUHY YL =T 20,900
2 22| 1,500 1,500 0
02223 % MAl S 1,500
202 01t 20,570 20,570 0
01 =2Uioibl 20,570 20,570 0
oMU YR =T 20,570
203 AR =Y 3,000 3,000 0
04 SNSYARETY| 3,000 3,000 0
OI=TTh ! 3,000




